FORM FOUR CLUSTER KCSE MODEL 2
PHYSICS PAPER 3 ANSWERS

QUESTION ONE (10 Marks)

PART A
1.

e A metre rule ¢ A mass labelled M

e Two pieces of wood ¢ A wire P

e A complete set of retort stand

e A stop watch ¢ A micrometer screw gauge
e A 100ml measuring cylinder

e A piece of thread

a) Using a weighing balance, measure and record the mass of the mass

M=.0.100 (0.098 20.102)kg(ld.p)

b) i) Pour water in a 100ml measuring cylinder to half way and record the volume as V1
V160.00. = CM> s

ii) Using the thread, lower the mass M into the measuring cylinder provided until it's fully
submerged as shown.

Record the final volume V2

V2 73.0 cm? students value. ......
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Fm

i11) Determine the volume V of the solid M in m?

V=0.000013m* (0.000010-0.000015)

M
Determine the value of R given that V= R giving the unit
Bl DAO 7.692.31kg/m’
7 0.000013

range(6500 —9000) |

QUESTION TWO (20 Marks)

PART B
2. ¢) Set up the apparatus as shown below. Ensure that the wire is free of kinks and the end tied to
the hook is very firm and the hook does not move about.

d

p

5 / Pieces of wood

(1mark)

Adjust the length L of the wire so that L = 70cm. Give the solid M a slight twist in a horizontal

oscillations and record in the table below.

ane of 180° so that when released if oscillates about as shown. Measure the time t for twenty

e) Repeat the procedure above for other values of L as shown and complete the table.
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Length L(cm) 70 60 50 40 30 20

Length L(m) 0.70 0.60 0.50 040 0.30 020V %

A 1429 1667 2000 |2500 |3333 5.000V %

Time for 10 oscillations t(s) 24200V [ 22.75VW | 21.04WW | 19.80WW | 17.918V | 14.73VW 3

Period T (s) 2420 2.275 2.104 1.980 1.791 1473V %

Frequency , f (Hz) 0.4132 04396 |04754 |0.5051 0.5583 0.6789V 1
2 (Hz?) 0.1707 0.1932 0.2259 | 0.2551 03117 | 0.4609V
Y2

On the grid provided plot a graph of f* against ,}f

" 4+ = - -t % -
5 r411t2 11y S eEes SO EEES - . -4 z
¥ . : ;s 3 g
. D -
v - - - - 13
] 3 -+ > : -
s A :
s - v :
Fedah - < .
e - 4+
2
B | -
- e T4
e 1 e $ + -
<
1 e
3
- . < X . g
. o 1
-
3 1 3 3 ] "e
e
b .o : RRSR - - Py : - g4-teie
1 inna rewe
T 1 - 4 !
1 44—+ - 1 L
. P | - + 44 + D S B R +aftaas “ : t;::
1 : - .
4 A : bt - + e O
- + ERREE RRe “ IR B3 4 -+ o
EEE i > 4 <
4 4+ P2 SRRRE B + FRSR R -+ ERES
4 ::114 . —ibb - + + ‘o + R R RRR
.- . . ERY . I . . . ——
> 4 - - e
s $ 3 : o H
.o - t e b j b - "
— ' 3
3 = 3 i 4
-4 ‘- * - - - - -4~ -
"
3 3 3 3 -t
: :
o >
3 -+ 4
3 . 4o
3...-&.;-4 bbadbddoddsid= 4 v .. 44444440
a4 ro . 3 < St
e 1 'e o rwonowe
3 v :
: 3 -
L4l iiidea 4. IR R - +eritteit
S ;‘w: 5 34 :i*. -
: . - DRSS
- + .ot
3 1 o + v
7 3 s -
Hit P 13 mi : 3 H
1 1 ' SR N :
G o &
wr

Compiled & supplied by Schools Net Kenya, P.O. Box 15509-00503, Mbagathi — Nairobi | Tel:+254202319748
E-mail: infosnkenya@gmail.com | ORDER ANSWERS ONLINE at www.schoolsnetkenya.com

Page 3



http://revision.co.ke/
http://www.schoolsnetkenya.com/
http://revision.co.ke/
http://revision.co.ke/
http://revision.co.ke/

g) Determine the slope of the graph.
(2mks)
24 3
= P—ﬂHZ ‘m
_038-0.14 3

Slope ‘ 2
4-1 ¥ N%=0.08HZ m + 1 accuracy V ¥: units

h) Using the micrometer screw gauge measure the diameter of the wire d

d=0.00027 (0.00023-0.00032) m (1mk)
) 397
1) Given that GdL determine the value of the constant G. (2mks)

39—” = slope

Gda 7%
397 _o.08

Gd

= 397° “ 3972

T 0084 0.08x0.00027
=1.7820% 10" m™ Hz"* wnits
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